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QUESTION 1

A ProfiNET management system operator is unable to add a ProfiNET Conformance Class B device to a SIMATIC
management station. The device is connected to interface FastEthernet1/3. Based on the provided CLI output, which
statement is correct? 

switch#show profinet lldp Fa1/1 port-003-00000 On Fa1/2 port-004-00000 On Fa1/3 port-005-00000 Off Fa1/4
port-006-00000 Off Fa1/5 port-007-00000 On Fa1/6 port-008-00000 Off Fa1/7 port-009-00000 On Fa1/8 port-010-00000
Off 

A. LLDP has been disabled on this switch 

B. The connected device is not sending LLDP packets with ProfiNET extensions 

C. The port label needs to be changed on interface FastEthernet 1/3 to "port-003-00000" 

D. ProfiNET is disabled on this switch 

Correct Answer: B 

 

 

QUESTION 2

You have been tasked to design an Ethernet network capable of Motion control with cycle times not to exceed 1ms. In
order to create a more deterministic network, what characteristic/s should you primarily focus on? 

A. Lattency and Jitter 

B. Redundancy and high availability 

C. Explicit and Implicit messaging 

D. This cycle time is not possible on an Ethernet network 

E. Gigabit port speed 

Correct Answer: A 

 

QUESTION 3

A small manufacturing company has a Class C network address on the plant floor and needs to create five subnets,
each accommodating 25 endpoints. Which subnet mask needs to be configured? 

A. 255.255.240.0 

B. 255.255.255.128 

C. 255.255.255.192 

D. 255.255.255.224 
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E. 255.255.255.240 

F. 255.255.255.248 

Correct Answer: D 

 

QUESTION 4

Which two are possible solutions to control which devices can communicate between industrial zones? (Choose two) 

A. Use per zone private IP addressing and deploy NAT to control traffic between zones 

B. Put access control lists on switches connecting industrial zones to control traffic 

C. Attach each zone to a firewall to control intra-zone traffic 

D. Deploy QoS traffic shaping to limit the volume of traffic between industrial zones 

E. Deploy an IDS system between the zones to control intra-zone traffic 

Correct Answer: BC 

 

QUESTION 5

Exhibit: 

Refer to the exhibit. CCNA.com has the industrial network shown in the exhibit. All switches are configured as layer 2
switches and are using VLAN 1 as their management VLAN. Each VLAN 1 interface has been assigned the correct IP
address. What is the purpose of assigning a default gateway to SW-C switch? 

A. allows connectivity between the VLAN 1 interface on SW-C and other devices in the network. 
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B. allows connectivity between Host A and other devices in the network. 

C. allows connectivity between Host B and other devices in the network. 

D. allows the switch to pass traffic between Host A and Host B 

Correct Answer: A 
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